minsommen tot 10, blad 1

# hoeveel sommen maak jij goed in 1 minuut?



10 – 2 =	6-6=	6 – 5 =
10 – 6 =	6-1=	7 – 6 =
8 – 1 =	2 – 1 =	7 – 7 =
6 – 3 =	7 – 5 =	10 – 9 =
5 – 5 =	9 – 3 =	6 – 4 =
8 – 6 =	9 – 6 =	10 – 4 =
5 – 2 =	10 – 3 =	8 – 7 =
2 – 1 =	7 – 7 =	6 – 2 =
9 – 9 =	6 – 4 =	5 – 2 =
7 – 5 =	7 – 6 =	5 – 1 =
8 – 6 =	7 – 5 =	4-1=
6 – 2 =	9 – 4 =	9 – 7 =
6 – 4 =	4 – 3 =	9 – 3 =
7 – 1 =	10 – 5 =	7 – 4 =
10 – 1 =	3 – 2 =	10 – 10 =

l <sup>e</sup> keer	2 <sup>e</sup> keer

minsommen tot 10, blad 2

### <u>hoeveel sommen maak jij goed in 1 minuut?</u>



3 – 2 =	9 – 6 =	8 – 1 =
4 – 4 =	9 – 2 =	6 – 6 =
6 – 1 =	4 – 4 =	3 – 1 =
10 – 1 =	8 – 7 =	5 – 3 =
6 – 5 =	10 – 2 =	7 – 3 =
4 – 4 =	4 – 1 =	9 – 8 =
9 – 8 =	9 – 7 =	6 – 5 =
8 – 1 =	9 – 3 =	9 – 5 =
9 – 2 =	10 – 9 =	7 – 3 =
10 – 3 =	9 – 1 =	9 – 9 =
2 – 2 =	7 – 3 =	10 – 8 =
4 – 2 =	7 – 4 =	10 – 4 =
5 – 3 =	4 – 3 =	6 – 4 =
8 – 4 =	3 – 3 =	2 – 2 =
10 – 5 =	6 – 4 =	6 – 3 =

l <sup>e</sup> keer	2 <sup>e</sup> keer

minsommen tot 10, blad 3

# <u>hoeveel sommen maak jij goed in 1 minuut?</u>



10 – 6 =	7 – 4 =	9 – 4 =
8 – 1 =	10 – 3 =	5 – 5 =
8 – 2 =	5 – 5 =	10 – 6 =
5 – 4 =	6 – 2 =	6 – 3 =
4 – 4 =	2 – 1 =	5 – 1 =
6 – 3 =	9 – 4 =	6 – 2 =
2 – 2 =	4 – 4 =	7 – 1 =
10 – 4 =	6 – 5 =	10 – 1 =
3 – 2 =	3 – 2 =	6 – 6 =
10 – 8 =	1 – 1 =	6-1=
9 – 9 =	7 – 7 =	7 – 2 =
6 – 4 =	10 – 9 =	9 – 6 =
9 – 3 =	6 – 4 =	9 – 3 =
8 – 6 =	10 – 2 =	7 – 4 =
9 – 2 =	5 – 1 =	8 – 4 =

l <sup>e</sup> keer	2 <sup>e</sup> keer

minsommen tot 10, blad 4

# <u>hoeveel sommen maak jij goed in 1 minuut?</u>



6 – 5 =	6 – 2 =	5 – 1 =
10 – 9 =	8 – 3 =	5 – 5 =
5 – 3 =	9 – 7 =	10 – 2 =
9 – 1 =	4 – 3 =	5 – 2 =
9 – 4 =	10 – 4 =	8 – 3 =
4 – 1 =	6 – 1 =	10 – 9 =
7 – 7 =	6 – 4 =	3 – 1 =
5 – 4 =	8 – 1 =	10 – 10 =
7 – 3 =	5 – 4 =	4-1=
7 – 1 =	2 – 2 =	9 – 6 =
3 – 2 =	4 – 3 =	8 – 5 =
6 – 2 =	4 – 2 =	10 – 9 =
8 – 4 =	7 – 1 =	7 – 3 =
5 – 2 =	5 – 2 =	6 – 6 =
8 – 7 =	7 – 5 =	10 – 4 =

l <sup>e</sup> keer	2 <sup>e</sup> keer

minsommen tot 10, blad 5

# hoeveel sommen maak jij goed in 1 minuut?



9 – 4 =	10 – 1 =	10 – 6 =
·		10 - 0 -
6 – 2 =	3 – 1 =	10 – 10 =
10 – 5 =	6 – 3 =	7 – 7 =
8 – 7 =	8 – 2 =	2-2=
7 – 4 =	10 – 7 =	3 – 1 =
5 – 2 =	8 – 6 =	4 – 3 =
7 – 3 =	8 – 1 =	6 – 5 =
4 – 1 =	10 – 1 =	9 – 6 =
9 – 5 =	8 – 6 =	8 – 4 =
9 – 9 =	8 – 1 =	9 – 3 =
3 – 2 =	10 – 3 =	1 – 1 =
9 – 5 =	8 – 7 =	4-1=
6 – 2 =	9 – 1 =	6-1=
6 – 6 =	6 – 4 =	9 – 4 =
8 – 6 =	8 – 4 =	7 – 2 =

l <sup>e</sup> keer	2 <sup>e</sup> keer